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IBPS RRB Mains Cut-Off for 2020 PO Mains Exam
The mains cut off marks for IBPS RRB PO 2020 has been listed below for both state-wise and category-
wise.

State/UT SC ST OBC EWS General

Andhra Pradesh 61.94 52 76.38 76.38 76.38

Arunachal Pradesh NA 43.44 43.44 NA NA

Assam 56.06 51.56 66.88 70.31 72.44

Bihar 52.25 46.25 77.31 77.31 77.31

Chhattisgarh 56.56 45.69 75.50 71 75.50

Gujarat 41.94 50.94 50.94 52.19 56.75

Haryana 67.38 40.31 79.88 90.50 91.81

Himachal Pradesh 65.63 68.56 69.31 83.25 88.38

Jammu & Kashmir 70.50 51.25 65.06 80.81 89.88

Jharkhand 53.13 53.75 74.88 80.25 82.25

Karnataka NA NA NA NA NA

Kerala NA NA NA NA NA
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Madhya 
Pradesh

58 44.31 74.44 77.13 77.13

Maharashtra 71 48.94 73.56 73.56 73.56

Manipur 65.06 63.31 65.06 65.06 65.06

Meghalaya 46.19 58.50 58.50 58.50 58.50

Mizoram 54.44 64.06 40.63 NA 64.06

Nagaland NA 44.75 NA NA NA

Odisha 63.25 57.94 85.63 85.63 85.63

Puducherry 67.69 NA 63.56 NA NA

Punjab 66.88 34 73 81.81 92.38

Rajasthan 39.13 47.63 36.75 47.63 47.63

Tamil Nadu 72.88 33.44 81.06 57.56 81.06

Telangana 64.31 60.88 70.81 70.81 70.81

Tripura 65.50 59.69 72.19 65 80.44

Uttar Pradesh 52.56 29.50 64.19 70.56 70.56

Uttarakhand 100.38 59.63 82.75 100.38 100.38

West Bengal 62.75 47.56 63.56 69 80.94
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S No Name of Test Max. Marks
Qualifying Scores

SC/ST/OBC/PWD EWS/General

1 Reasoning 40 08.75 12

2
Computer 
Knowledge

40 05.75 08.75

3
General 
Awareness

40 02.25 04.50

4 (a) English Language 40 03.50 07.25

4 (b) Hindi Language 40 03.50 06.25

5
Quantitative 
Aptitude

40 02.25 05.25

IBPS RRB PO Mains Cut Off 2020- Section-wise
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RRB PO Mains Cut-Off 2019

States Cut-off

Arunachal Pradesh 66.56

Andhra Pradesh 79.81

Bihar 86.25

Chhattisgarh 84.94

Gujarat 55.19

Haryana 92.19

Himachal Pradesh 91.06

Jammu & Kashmir 93.88

Jharkhand 91.13

Karnataka 57.44

Kerala 95.69

Madhya Pradesh 82.56

Maharashtra 54.75
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Manipur 68.63

Meghalaya 63.94

Mizoram 92.94

Nagaland NA

Odisha 80.13

Puducherry 91.19

Punjab 99.19

Rajasthan 88.69

Tamil Nadu 86.00

Telangana 71.56

Tripura 60.44

Uttar Pradesh 87.81

Uttarakhand 102.81

West Bengal 87.44

Assam 74.56
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IBPS RRB PO SECTIONS GOOD ATTEMPTS

English Language/Hindi 
Language

18-22

Reasoning 22-25

Quantitative Aptitude 13-17

Computer Knowledge 25-28

General Awareness 17-21

TOTAL 95-113
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Topic No. of Questions

Circular Seating Arrangement (8 Person facing center with variable age) 5

Year based Puzzle (8 Person likes food) 5

Linear Seating (certain no of person facing north) 5

Box Based Puzzle (8 Box with variable countries) 5

Blood Relation(normal) 3

Inequality (Direct inequality with 3 conclusion) 4

Order Ranking (Height arrangement) 3

Data Sufficiency 3

Direction 1

Coding (Chinese Coding) 1

Alphabet (Meaningful word) 1

Miscellaneous 1

Logical 3

Total 40
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Twelve persons are sitting in two parallel 
rows containing six persons each in a way 
that there is an equal distance between two 
adjacent persons. A, B, C, D, E, F sits in row 1 
and faces north, P, Q, R, S, T, U sits in row 2 
and faces south but not necessarily in the 
same order. Therefore, in this arrangement 
each member seated in a row faces another 
member of the other row. A sits fourth to 
the left of B and one of them sits at corner. 
Only one person sits between Q and R. C sits 
third to the right of D. R faces C. More than 
two persons sit to the right of Q. Only one 
person sit between P and T and T does not 
sit near to Q. Two persons sit between U and 
S who does not face A. 

बारह व्यक्ति दो समानाांिर पांक्तियों में प्रत्येक में छह
व्यक्ति इस प्रकार बैठे हैं कक दो आसन्न व्यक्तियों के
बीच समान दरूी है। A, B, C, D, E, F पांक्ति 1 में बैठे हैं
और उत्तर की ओर उन्मुख हैं, P, Q, R, S, T, U पांक्ति 2 
में बैठे हैं और दक्षिण कीओर उन्मुख हैं लेककन
आवश्यक नहीां इसी क्रम में हों। इसललए, इस व्यवस्था
में एक पांक्ति में बैठे प्रत्येक सदस्य का मुख दसूरी
पांक्ति के अन्य सदस्य की ओर है। A, B के बायें से
चौथे स्थान पर बैठा है और उनमें से एक कोने पर बैठा
है। Q और R के बीच केवल एक व्यक्ति बैठा है। C, D 
के दायें से िीसरे स्थान पर बैठा है। R का मुख C की
ओर है। दो से अधिक व्यक्ति Q के दायें बैठे हैं। केवल
एक व्यक्ति P और T के बीच बैठिा है और T, Q के
ननकट नहीां बैठिा है। U और S के मध्य दो व्यक्ति बैठे
हैं, क्िसका मुख A कीओर नहीां है।
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Twelve persons are sitting in two parallel rows 
containing six persons each in a way that there is 
an equal distance between two adjacent 
persons. A, B, C, D, E, F sits in row 1 and faces 
north, P, Q, R, S, T, U sits in row 2 and faces 
south but not necessarily in the same order. 
Therefore, in this arrangement each member 
seated in a row faces another member of the 
other row. A sits fourth to the left of B and one 
of them sits at corner. Only one person sits 
between Q and R. C sits third to the right of D. R 
faces C. More than two persons sit to the right of 
Q. Only one person sit between P and T and T 
does not sit near to Q. Two persons sit between 
U and S who does not face A. 
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Who faces A? 
(a) R (b) T (c) S (d) The person sitting immediate 
right of U (e) Both (b) and (d) 

Who sits exactly between R and U? 
(a) T (b) P (c) S (d) The one who faces B (e) None 
of these 

Four of the following five are alike in a certain 
way based on a group, which among the 
following does not belong to that group? (a) R 
(b) T (c) B (d) C (e) A
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(a)If the data in statement I and II are sufficient to answer the question. 
(b) If the data in statement II and III are sufficient to answer the question. 
(c) If the data in statement I and III are sufficient to answer the question. 
(d) If the data in all the statement I, II and III together are not sufficient to answer the 
question. 
(e) If all the statements I, II and III are necessary to answer the question.
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Seven Boxes B1, B2, B3, B4, B5, B6, and B7 are kept one above another but not necessarily in the 
same order. What is the position of Box B7 with respect to Box B3, If Box B3 is not kept at the top? 
(I) Only two boxes are kept between Box B5 and Box B6, which is kept in top three places. Only 

one Box is kept between Box B2 and Box B3. 
(II) The number of boxes kept below Box B5 is same as the number of boxes kept above Box B2. 
(III) Box B7 is kept one of the places below Box B5. Box B2 is kept above Box B1.

साि डिब्बे B1, B2, B3, B4, B5, B6, और B7 एक दसूरे के ऊपर रखे गए हैं लेककन िरूरी नहीां कक इसी क्रम में हों।
यदद बॉतस B3 को सबसे ऊपर नहीां रखा िािा है, िो डिब्बा B3 के सन्दर्भ में डिब्बा B7 का स्थान तया है?
डिब्बा B5 और डिब्बा B6 के मध्य केवल दो डिब्बे रखे गए हैं, क्िन्हें शीर्भ िीन स्थानों पर रखा गया है। डिब्बा B2 
और डिब्बा B3 के बीच केवल एक डिब्बा रखा गया है।
(II) डिब्बा B5 के नीचे रखे गए बतसों की सांख्या, डिब्बा B2 के ऊपर रखे गए बतसों की सांख्या के समान है।
(III) बॉतस B7 को बॉतस B5 के नीचे एक स्थान पर रखा गया है। डिब्बा B2 को डिब्बा B1 के ऊपर रखा गया है।
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Seven persons A, B, C, D, E, F, and G are members of a family. How is C related to G? 
(I) A is married to the mother of D, who is the sister of C. 
(II) F is married to G, who is the father of E. 
(III) E is the nephew of the mother of C.

साि व्यक्ति A, B, C, D, E, F और G एक पररवार के सदस्य हैं। C, G से ककस प्रकार सांबांधिि है?
(I)A का वववाह D की मााँ से हुआ है, िो C की बहन है।
(II) F का वववाह G से हुआ है, िो E का वपिा है।
(III) E, C की मािा का र्िीिा है।
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What will be the code for ‘candid’? 
(I) if ‘candid moments are beautiful ‘ is coded as ‘ br, pa, ur, mo’ 
(II) ‘ moments are cherised’ is coded as ‘, br, mo, zc,’ 
(III) ‘enjoy candid moments ’ is coded as ‘pa, br, ti,’ 
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. Eight persons P,Q, R, S, T,U, V and W are sitting around a square table such that four of them sits at the 
corner and for of them sits in the middle of the sides facing the center, but not necessarily in the same 
order. How many persons sit between R and T, when counted from left of T? 
(I) Three persons sit between P and Q, who does not sit at any corner. S does not sit at any corner of the 

table and also does not sit near to R. 
(II) W sits third to the left of Q and three persons sit between W and R. 
(III)V does not sit near to R and P. 

. आठ व्यक्ति P, Q, R, S, T, U, V और W एक वगाभकार मेि के चारों ओर इस प्रकार बैठे हैं कक उनमें से चार कोने
पर बैठे हैं और उनमें से चार र्ुिाओां के मध्य में कें द्र की ओर मुख करके बैठे हैं, लेककनआवश्यक नहीां एक ही
आदेश। T के बायें से धगनने पर, R और T के मध्य ककिने व्यक्ति बैठे हैं?
(I)P और Q के मध्य िीन व्यक्ति बैठे हैं, िो ककसी र्ी कोने पर नहीां बैठा है। S, मेि के ककसी कोने पर नहीां बैठा है
और R के ननकट र्ी नहीां बैठा है।
(II)W, Q के बायें से िीसरे स्थान पर बैठा है और W और R के मध्य िीन व्यक्ति बैठे हैं।
(III)V, R और P के ननकट नहीां बैठा है।
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Eight persons P, Q, R, S, T, U, V and W are living in a building of eight floors such that the ground 
floor is numbered as 1 and the topmost floor is numbered as 8 but not necessarily in the same 
order. If T lives one of the floors below U, then how many persons live between W and T? 
(I) Only three persons live between Q and S, who lives above Q. S lives on an even number floor.
(II) Only three persons live between P and U, who lives immediately below Q. 
(III) Only two persons live between S and W

आठ व्यक्ति P, Q, R, S, T, U, V और W आठमांक्िलों की एक इमारि में इस प्रकार रहिे हैं कक र्िूल की सांख्या
1 है और सबसे ऊपरी मांक्िल की सांख्या 8 है लेककन िरूरी नहीां कक इसी क्रम में हो। यदद T, U के नीचे ककसी एक
मांक्िल पर रहिा है, िो W और T के बीच ककिने व्यक्ति रहिे हैं?
Q और S, िो Q के ऊपर रहिा है, के बीच केवल िीन व्यक्ति रहिे हैं। S एक सम सांख्या वाली मांक्िल पर रहिा
है।
P और U के मध्य केवल िीन व्यक्ति रहिे हैं, िो Q के ठीक नीचे रहिा है।
(III) S और W के बीच केवल दो व्यक्ति रहिे हैं
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Eight persons A, B, C, D, E, F, G, and H have different heights. B is taller than only one person. 
D is taller than E but shorter than A. The second tallest person height is 175cm. C is taller 
than A and F. F’s height is 170cm.E is taller than G. The third shortest person height is 160cm. 
C is not the one who is tallest.
आठ व्यक्ति A, B, C, D, E, F, G और H की ऊां चाई अलग-अलग है। B केवल एक व्यक्ति से लम्बा 
है। D, E से लांबा है लेककन A से छोटा है। दसूरे सबसे लांबे व्यक्ति की ऊां चाई 175 सेमी है। C, A 
और F से लांबा है। F की ऊां चाई 170 सेमी है। E, G से लांबा है। िीसरे सबसे छोटे व्यक्ति की 
ऊां चाई 160 सेमी है। C वह नहीां है िो सबसे लांबा है।

If F is taller than A and the sum of height of A and E is 325cm, 
then what can be the possible height of D? 
(a) 165cm (b) 152cm (c) 150cm (d) 161cm (e) None of these 

If the Sum of height of C and H is 360cm and the sum of height 
of G and E is 325 cm, then what will be the sum of height of H 
and G? (a) 355cm (b) 350cm (c) 340cm (d) Both (a) and (b) (e) 
Cannot be determined 
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. Statement: “If you are intelligent, we are the right people for improving your performance.” 
– An advertisement of a coaching institute. 
Assumptions: 
I. Brilliant students prefer to join coaching classes. 
II. Coaching classes help the students to improve their performance. 
III. No other institute provides such coaching. 

(a) Only I and II are implicit (b) Only II and III are implicit 
(c) Only I and III are implicit (d) All are implicit (e) None 
of these 

. कथन: "यददआप बुद्धिमान हैं, िो हमआपके प्रदशभन में सुिार के ललए सही लोग हैं।" - एक कोधचांग सांस्थान का
ववज्ञापन।
िारणाएां:
1. मेिावी छात्र कोधचांग किाओां में शालमल होना पसांद करिे हैं।
2. कोधचांग किाएां छात्रों को उनके प्रदशभन में सुिार करने में मदद करिी हैं।
3. कोई अन्य सांस्थान ऐसी कोधचांग प्रदान नहीां करिा है।
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Statement: ‘Several labour and industrial courts in this State have no proper premises. Vacancies of 
judges and stenos are kept pending.’ – A statement of a retired judge of State X. 
Assumptions: 
I. Adequate number of staff and judges helps in the smooth functioning of the industrial and labour

courts. 
II. The state is not bothered about the condition of the labour and industrial courts. 
III. Physical facilities of an office help in increasing efficiency of its employees.

कथन: 'इस राज्य में कई श्रमऔरऔद्योधगक न्यायालयों में कोई उधचि पररसर नहीां है। न्यायािीशों और
आशलुलवपकों की ररक्तियों को लांबबि रखा िािा है।' - राज्य के एक सेवाननवतृ्त न्यायािीश का एक बयान एतस।
िारणाएां:
1. पयाभप्ि सांख्या में कमभचारी और न्यायािीशऔद्योधगकऔर श्रम न्यायालयों के सुचारू कामकाि में मदद करिे

हैं।
2. राज्य को श्रमऔरऔद्योधगक न्यायालयों की क्स्थनि की परवाह नहीां है।
3. एक कायाभलय की र्ौनिक सुवविाएां उसके कमभचाररयों की दििा बढाने में मदद करिी हैं।
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Seven poles namely A, B, C, D, E, F, and G are installed in a society for electric wires. Pole D is 5m to 
the east of Pole A. Pole F is 8m to the west of Pole B, which is 15m south of Pole D. Pole E is 3m west 
of Pole A. Pole C is 15m to the east of Pole G, which is 12 m north of Pole A.
एक सोसायटी में बबिली के िारों के ललए साि पोल ए, बी, सी, िी, ई, एफ और िी लगाए गए हैं। ध्रुव 
D, ध्रुव A के पूवभ में 5 मीटर है। ध्रुव F, ध्रुव B के पक्श्चम में 8 मीटर है, िो ध्रवु D के 15 मीटर दक्षिण 
में है। ध्रुव E, ध्रुव A के 3 मीटर पक्श्चम में है। ध्रुव C, ध्रुव G के 15 मीटर पूवभ में है, िो ध्रुव A के 12 
मीटर उत्तर में है।

What is the shortest distance between Pole A and 
Pole C? 
(a) 11m (b) √369m (c) √129 m (d) 17m (e) None of 
the above

What is the total distance between Pole F and Pole 
E? 
(a) 11m (b) 13m (c) 16m (d) 15m (e) None of the 
above
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Eight persons A, B, C, D, E, F, G, and H are members of a family consisting of three generations and 
two married couples. Both H and B are male and C is the only brother of E, who is granddaughter of 
H. Neither A nor B is married to H, who has two children and one of them is unmarried. G is the 
paternal aunt of F, who is married to the mother of C.
आठ व्यक्ति A, B, C, D, E, F, G, और H िीन पीदढयों और दो वववादहि िोडों वाले पररवार के सदस्य हैं। H 
और B दोनों पुरुर् हैं और C, E का इकलौिा र्ाई है, िो H की पोिी है। न िो A और न ही B, H से 
वववादहि है, क्िसके दो बच्चे हैं और उनमें से एक अवववादहि है। G, F की पैिकृ आांटी है, क्िसका वववाह 
C की मािा से हुआ है।

Who is Paternal Grandmother of C? 
(a) H (b) A (c) B (d) D (e) None of these

How is B related to G? (a) Niece (b) Brother (c) 
Nephew (d) Father (e) None of these 
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Eight boxes P, Q, R, S, T, A, B, and C are kept one 
above another, each box contains different 
products viz. Shampoo, Soaps, Detergent, Oils, 
Creams, Spices, Biscuits and Toffees but not 
necessarily in the same order. Only two boxes are 
kept between box of Toffee and the box of 
Shampoo and both boxes are kept above the box 
of oils. Box R is kept just below the box of 
Detergent. Box C is kept above Box S but below 
Box T. Three boxes are kept between Box A, which 
doesn’t contain Spices and Creams and Box P, 
which doesn’t contain Biscuits and Toffee. The box 
which contains Soaps is kept just below Box P. 
Only three boxes are kept between the box of 
Soaps and the box of Oils. Box Q is kept just below 
the box of oils. Two boxes are kept between the 
box of Biscuits, which is kept at the top and Box B, 
which doesn’t contains Soaps and Spices.

आठ डिब्बे P, Q, R, S, T, A, B, और C को एक के ऊपर एक
रखा गया है, प्रत्येक डिब्बे में अलग-अलग उत्पाद हैं
अथाभि। शैंपू, साबुन, डिटिेंट, िेल, क्रीम, मसाले, बबस्कुट
और टॉफी लेककन िरूरी नहीां कक इसी क्रम में हों। टॉफी के
डिब्बे और शमै्पू के डिब्बे के बीच केवल दो डिब्बे रखे िािे
हैं और दोनों डिब्बे िेल के डिब्बे के ऊपर रखे िािे हैं।
डिब्बा R, डिटिेंट के डिब्बे के ठीक नीचे रखा गया है।
बॉतस C को बॉतस S के ऊपर लेककन बॉतस T के नीचे रखा
गया है। बॉतस A, क्िसमें मसाले और क्रीम नहीां हैं और
बॉतस P, क्िसमें बबस्कुट और टॉफी नहीां है, के बीच िीन
बॉतस रखे गए हैं। वह डिब्बा क्िसमें साबुन है, डिब्बा P के
ठीक नीचे रखा है। साबुन के डिब्बे और िेल के डिब्बे के
बीच केवल िीन डिब्बे रखे गए हैं। डिब्बा Q को िेल के
डिब्बे के ठीक नीचे रखा गया है। बबस्कुट के डिब्बे, िो
सबसे ऊपर रखा गया है और डिब्बा B, क्िसमें साबुन और
मसाले नहीां हैं, के बीच दो डिब्बे रखे गए हैं।
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Eight boxes P, Q, R, S, T, A, B, and C are kept one above 
another, each box contains different products viz. 
Shampoo, Soaps, Detergent, Oils, Creams, Spices, Biscuits 
and Toffees but not necessarily in the same order. Only 
two boxes are kept between box of Toffee and the box of 
Shampoo and both boxes are kept above the box of oils. 
Box R is kept just below the box of Detergent. Box C is kept 
above Box S but below Box T. Three boxes are kept 
between Box A, which doesn’t contain Spices and Creams 
and Box P, which doesn’t contain Biscuits and Toffee. The 
box which contains Soaps is kept just below Box P. Only 
three boxes are kept between the box of Soaps and the 
box of Oils. Box Q is kept just below the box of oils. Two 
boxes are kept between the box of Biscuits, which is kept 
at the top and Box B, which doesn’t contains Soaps and 
Spices.
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Which Box Contains Shampoo? 
(a) Box S (b) Box A (c) Box B (d) Box T (e) None of these

How many Boxes are kept between Box Q and the box 
which contains Soaps? (a) One (b) Two (c) Three (d) Four 
(e) None of these

The number of boxes kept below P is same as 
above______? 
(a) T (b) A (c) B (d) R (e) None of these 

Choose the incorrect combination from the given 
alternatives? (a) P- Shampoo (b) R- Oils (c) Q- Spices (d) B-
Toffee (e) All are incorrect

In a certain way if C is related to Shampoo and S is related 
Creams, then in the same pattern R is related to______? 
(a) Toffee (b) Spices (c) Biscuits (d) Oils (e) None of these
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A@B (6)- A is 10m in north of B 
A$B (10)- A is 14m in south of B 
A%B (12)- A is 10m in east of B 
A&B (15)- A is 13m in west of B 

P%Q(16), R&S(12), T&U(20), U$S(15), 
P@T(10), W$R(17)

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

What is the shortest distance between point P 
and point U? 
(a) 2√130m (b) 520m (c) 130m (d) 260m (e) None 
of these

If M is the mid point of the line segment TU, 
then determine the distance between the point 
T and point M? (a) 9m (b) 10m (c) 8m (d) None of 
these (e) 7m 

What is the shortest distance between the point 
U and point W? (a) 85m (b) 120m (c) None of 
these (d) √104m (e) √130m
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Eight persons P, Q, R, S, T, U, V, and W are 
sitting around a circular table facing the center. 
they all have different age viz.15 years, 13 
years, 35 years, 36 years, 60 years, 28 years, 72 
years, and 59 years but not necessarily in the 
same order. S and P are immediate neighbors 
of each other but neither of them is more than 
36 years old. U is not an immediate neighbor of 
T. W’s age is not 60 years and also he doesn’t 
sit immediate left of R. P is one year younger to 
S. W is younger to R. Q, whose age is a multiple 
of 7 sits second to the left of R and three 
persons sit between R and P. Only one person 
sit between R and the one who is age is 60 
years. The one whose age is 59 years sits third 
to the left of the one whose age is 60 years. 
Three persons sit between T, who is the eldest 
person and the one whose age is 59 years. 

आठ व्यक्ति P, Q, R, S, T, U, V, और W एक
विृाकार मेि के चारो ओर कें द्र की ओर मुख करके
बैठे हैं। उन सर्ी की आयु अलग-अलग है अथाभि 15 
वर्भ, 13 वर्भ, 35 वर्भ, 36 वर्भ, 60 वर्भ, 28 वर्भ, 72 वर्भ
और 59 वर्भ लेककनआवश्यक नहीां इसी क्रम में हो। S 
और P एक दसूरे के ननकटिम पिोसी हैं लेककन इनमें
से कोई र्ी 36 वर्भ से अधिक पुराना नहीां है. U, T का
ननकटिम पिोसी नहीां है. W कीआयु 60 वर्भ नहीां है
और वह R के ठीक बाएां नहीां बैठा है. P, S से एक वर्भ
छोटा है. W, R से छोटा है. Q, क्िसकी आयु 7 का
गुणि है R के बाएां से दसूरे स्थान पर बैठा है और R 
और P के बीच िीन व्यक्ति बैठे हैं। R और 60 वर्भ की
आयु वाले व्यक्ति के बीच केवल एक व्यक्ति बैठा है।
वह व्यक्ति क्िसकी आयु 59 वर्भ है, 60 वर्भ की आयु
वाले व्यक्ति के बाएां से िीसरे स्थान पर बैठा है। T, िो
सबसे बडा व्यक्ति है और क्िसकी आयु 59 वर्भ है, के
मध्य िीन व्यक्ति बैठे हैं।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727
Eight persons P, Q, R, S, T, U, V, and W are sitting 
around a circular table facing the center. they all 
have different age viz.15 years, 13 years, 35 years, 
36 years, 60 years, 28 years, 72 years, and 59 years 
but not necessarily in the same order. S and P are 
immediate neighbors of each other but neither of 
them is more than 36 years old. U is not an 
immediate neighbor of T. W’s age is not 60 years 
and also he doesn’t sit immediate left of R. P is 
one year younger to S. W is younger to R. Q, 
whose age is a multiple of 7 sits second to the left 
of R and three persons sit between R and P. Only 
one person sit between R and the one who is age 
is 60 years. The one whose age is 59 years sits third 
to the left of the one whose age is 60 years. Three 
persons sit between T, who is the eldest person 
and the one whose age is 59 years. 
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Who sits third to the left of the one who age is 59 Years? 
(a) S (b) T (c) U (d) W (e) P

Who among the following sits opposite to the one who sit third to the 
left of V? 
(a) T (b) Q (c) P (d) R (e) None of these

How many maximum persons sit between the youngest and the oldest 
person when counted from the left of the youngest person? 
(a) One (b) Two (c) Three (d) Four (e) Five

Which of the following statement is true about Q? (a) Q sits immediate 
left of U (b) Q sits second to the right of the one whose age is perfect 
square (c) Q faces V (d) All are true (e) Both (a) and (c)

Four of the following five are alike in a certain way based on a group, 
which of the following does not belong to that group? (a) Q – 35 Years (b) 
R – 15 Years (c) U – 59 Years (d) V -60 Years (e) S- 36 Years
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. “Dowry” which is illegal in India but it is entertained very pleasantly by the family members and grooms 
itself. They take it as their birth right. There is a mindset in society that women have to take care of kitchen, 
babies and home and men have to see their office only. But the bitter truth is that a woman gives many 
sacrifices in comparison to men in persuasion of society. . "दहेि" िो र्ारि में अवैि है लेककन पररवार के 
सदस्यों और दलू्हों द्वारा बहुि ही सुखद मनोरांिन ककया िािा है। वे इसे अपना िन्मलसद्ि अधिकार मानिे हैं। 
समाि में एक मानलसकिा है कक मदहलाओां को रसोई, बच्चों और घर की देखर्ाल करनी है और पुरुर्ों को केवल 
अपना कायाभलय देखना है। लेककन कडवी सच्चाई यह है कक एक मदहला समाि को मनाने के ललए पुरुर्ों की 
िुलना में कई बललदान देिी है।

Which of the following is not in line according to above statement? 
I. There should be awareness program about dowry which should be regulated in the society on timely 

basis. 
II. There should be law of death penalty for rape cases which is a must do step in India. 
III. It is also believed that women should follow the customs that are made by the society for better 

civilization.

(a) Only III (b) Both I and III (c) Both II and III (d) Only II (e) None of these 
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Nine persons A, B, C, D, E, F, G, H, and I are born in nine 
different year viz. 1976, 1978, 1980, 1984, 1988, 1991, 
1995, 2001, 2004 but not necessarily in the same order. 
(The age of persons will be calculated with respect to the 
year 2021.) They all have different occupation viz. Driver, 
Plumber, Carpenter, Painter, Singer, Nurse, Banker, 
Doctor, and Engineer but not necessarily in the same 
order. F is younger than G but older than H, who is not a 
nurse. The one whose age is 41 years is not a singer. The 
sum of age the plumber and C is 62 years. Only three 
persons are younger to B, who is a driver. The one who is 
the second oldest is Carpenter. D’s age is not 26 years. E 
was born in a year after B, but he was not born in a leap 
year. Only two persons was born between E and A. The 
sum of age of D and the one who is Doctor is 67 years. 
The difference between the age of Nurse and the 
carpenter is 6 years. A is not a Nurse. I was not born in 
1984 and he is neither a plumber nor a carpenter. D is 
neither an Engineer nor a Banker. The sum of age of 
Painter and Singer is 61 years. A is not an Engineer

नौ व्यक्ति A, B, C, D, E, F, G, H, और I नौ अलग-अलग
वर्ों में पैदा हुए हैं अथाभि। 1976, 1978, 1980, 1984, 
1988, 1991, 1995, 2001, 2004 लेककनआवश्यक नहीां
इसी क्रम में हो। (व्यक्तियों की आयु की गणना वर्भ 2021 
के सांबांि में की िाएगी।) उन सर्ी का व्यवसाय अलग-
अलग है अथाभि। ड्राइवर, प्लांबर, बढई, पेंटर, लसांगर, नसभ, 
बैंकर, िॉतटरऔर इांिीननयर लेककन िरूरी नहीां कक इसी
क्रम में हों। F, G से छोटा है लेककन H से बडा है, िो नसभ
नहीां है। क्िसकीआयु 41 वर्भ है वह गायक नहीां है। प्लांबर
और C कीआयु का योग 62 वर्भ है। B से केवल िीन
व्यक्ति छोटे हैं, िो कक एक ड्राइवर है। दसूरा सबसे बडा
व्यक्ति बढई है। D कीआयु 26 वर्भ नहीां है। E, B के एक
साल बाद पैदा हुआ था, लेककन वह लीप ईयर में पैदा नहीां
हुआ था। E और A के बीच केवल दो व्यक्तियों का िन्म
हुआ था। D कीआयुऔर िॉतटर कीआयु का योग 67 वर्भ
है। नसभ और बढई कीआयु के बीच का अांिर 6 वर्भ है। A 
नसभ नहीां है। मेरा िन्म 1984 में नहीां हुआ थाऔर वह न
िो प्लांबर है और न ही बढई। D न िो इांिीननयर है और न
ही बैंकर है। पेंटरऔर लसांगर कीआयु का योग 61 वर्भ है। A 
इांिीननयर नहीां है
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Nine persons A, B, C, D, E, F, G, H, and I are born in nine 
different year viz. 1976, 1978, 1980, 1984, 1988, 1991, 1995, 
2001, 2004 but not necessarily in the same order. (The age 
of persons will be calculated with respect to the year 2021.) 
They all have different occupation viz. Driver, Plumber, 
Carpenter, Painter, Singer, Nurse, Banker, Doctor, and 
Engineer but not necessarily in the same order. F is younger 
than G but older than H, who is not a nurse. The one whose 
age is 41 years is not a singer. The sum of age the plumber 
and C is 62 years. Only three persons are younger to B, who 
is a driver. The one who is the second oldest is Carpenter. 
D’s age is not 26 years. E was born in a year after B, but he 
was not born in a leap year. Only two persons was born 
between E and A. The sum of age of D and the one who is 
Doctor is 67 years. The difference between the age of Nurse 
and the carpenter is 6 years. A is not a Nurse. I was not 
born in 1984 and he is neither a plumber nor a carpenter. D 
is neither an Engineer nor a Banker. The sum of age of 
Painter and Singer is 61 years. A is not an Engineer
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What is the sum of the age of the Engineer and 
the Plumber? 
(a) 62 years (b) 63 years (c) 71 years (d) 65 years 
(e) None of these

How many persons are younger than A? 
(a) Three (b) Four (c) One (d) Five (e) Two

In which year F was born? 
(a) 1976 (b) 1980 (c) 1978 (d) 1984 (e) None of 
these

Four of the following five are alike in a certain 
way based on a group, which among the 
following does not belong to that group? (a) 
Plumber (b) Engineer (c) Carpenter (d) Painter 
(e) Banker
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Eight persons P, Q, R, S, V, X, Y, and Z are sitting in a straight row such 
that some of them are facing north and some of them are facing south 
direction but not necessarily in the same order. They all have different 
amount of money with them viz. Rs29, Rs49, Rs64, Rs36, Rs71, Rs67, 

Rs.32, and Rs43 but not necessarily in the same order. Y and X faces 
the opposite direction as Z, who has 43 rupee. R has more 
money than P, who sits near to Q. X has less money than P. 
Immediate neighbor of X faces the same direction. Y does not 
sit near to V. The one who has the highest amount of money 
sits third to the left of V. Neither V nor the one who has highest 
amount of money sits at the corner. The immediate neighbor 
ofthe one who has highest money faces south direction. Three 
persons sits between the one who has Rs67 and the one who 
has the least amount of money and one of them sits at the right 
corner of the row. The one who has the least amount of money 
is not an immediate neighbor of the one who has the highest 
amount of money. V has 36ruppes. Q neither have the highest 
nor the lowest amount money. Z sits third to the right of Q. Y 
and X are immediate neighbors of Z. The number of persons 
sitting between Y and V is same as the number of persons 
sitting between V and S, who does not face south. The number 
of persons sitting to the left of V is same as the number of 
persons siting to the right of Q.

आठ व्यक्ति P, Q, R, S, V, X, Y और Z एक सीिी पांक्ति में इस प्रकार बैठे हैं
कक उनमें से कुछ का मुख उत्तर की ओर है और उनमें से कुछ का मुख दक्षिण
ददशा की ओर है लेककनआवश्यक नहीां कक इसी क्रम में हों। उन सर्ी के पास
अलग-अलग रालश है अथाभि। 29 रुपये, 49 रुपये, 64 रुपये, 36 रुपये, 71 

रुपये, 67 रुपये, 32 रुपये और 43 रुपये लेककन िरूरी नहीां इसी क्रम में हो।
Y और X, Z के ववपरीि ददशा की ओर उन्मुख हैं, क्िसके पास 43 
रुपये हैं। R के पास P से अधिक िन है, िो Q के ननकट बैठा है। X के
पास P से कम िन है। X के ननकटिम पिोसी का मुख समान ददशा
की ओर है। Y, V के ननकट नहीां बैठा है। क्िसके पास सबसे अधिक
िन है, वह V के बाएां से िीसरे स्थान पर बैठा है। न िो V और न ही
वह क्िसके पास सबसे अधिक िन है, कोने पर बैठा है। क्िस
व्यक्ति के पास सबसे अधिक िन है उसका ननकटिम पडोसी
दक्षिण ददशा की ओर उन्मुख है। 67 रुपये वाले व्यक्तिऔर सबसे
कम िन रखने वाले व्यक्ति के बीच िीन व्यक्ति बैठे हैं और उनमें
से एक पांक्ति के दाएां कोने पर बैठा है। क्िसके पास सबसे कम
िनरालश है, वह उस व्यक्ति का ननकटिम पडोसी नहीां है क्िसके
पास सबसे अधिक िनरालश है। V के पास 36रुपये हैं। Q के पास न
िो सबसे अधिकऔर न ही सबसे कम रालश है। Z, Q के दायें से
िीसरे स्थान पर बैठा है। Y और X, Z के ननकटिम पिोसी हैं। Y और
V के बीच बैठे व्यक्तियों की सांख्या, V और S के बीच बैठे व्यक्तियों
की सांख्या के समान है, क्िनका मुख दक्षिण कीओर नहीां है। V के
बायें बैठे व्यक्तियों की सांख्या, Q के दायीां ओर बैठे व्यक्तियों की
सांख्या के समान है।
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Eight persons P, Q, R, S, V, X, Y, and Z are sitting in a straight row 
such that some of them are facing north and some of them are 
facing south direction but not necessarily in the same order. They 
all have different amount of money with them viz. Rs29, Rs49, 
Rs64, Rs36, Rs71, Rs67, Rs.32, and Rs43 but not necessarily in the 
same order. Y and X faces the opposite direction as Z, who has 43 
rupee. R has more money than P, who sits near to Q. X has less 
money than P. Immediate neighbor of X faces the same direction. Y 
does not sit near to V. The one who has the highest amount of 
money sits third to the left of V. Neither V nor the one who has 
highest amount of money sits at the corner. The immediate 
neighbor of the one who has highest money faces south direction. 
Three persons sits between the one who has Rs67 and the one who 
has the least amount of money and one of them sits at the right 
corner of the row. The one who has the least amount of money is 
not an immediate neighbor of the one who has the highest amount 
of money. V has 36ruppes. Q neither have the highest nor the 
lowest amount money. Z sits third to the right of Q. Y and X are 
immediate neighbors of Z. The number of persons sitting between Y 
and V is same as the number of persons sitting between V and S, 
who does not face south. The number of persons sitting to the left 
of V is same as the number of persons siting to the right of Q.
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. What is the difference of the money persons 
sitting at the corner have? (a) Rs31 (b) Rs38 (c) 
Rs33 (d) Rs35 (e) None of these

What is the position of Z, with respect to P? (a) 
Second to the left (b) Second to the right (c) 
Third to the right (d) Either (a) or (b) (e) None of 
these

How many persons have less money than P? (a) 
One (b) Two (c) Three (d) Five (e) None of these
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Statement: Should all the students graduating in any discipline desirous of pursuing postgraduation of the 
subjects of their choice be allowed to enroll in the post-graduate courses? 
Arguments: 
I. Yes. The students are the best judge of their capabilities and there should not be restrictions for joining 

post-graduate courses. 
II. No. The students need to study relevant subjects in graduate courses to enroll in post-graduate courses and 

the students must fulfill such conditions. 
III. No. There are not enough institutes offering postgraduate courses which can accommodate all the 

graduates desirous of seeking post-graduate education of their own choice. 

(a) None is strong (b) Only I and II are strong (c) All are strong (d) Only I and III are strong (e) None of these

कथन: तया अपनी पसांद के ववर्यों के स्नािकोत्तर करने के इच्छुक ककसी र्ी ववर्य में स्नािककरने वाले सर्ी छात्रों को
स्नािकोत्तर पाठ्यक्रमों में नामाांकन करने की अनुमनि दी िानी चादहए?
िकभ :
हाां। छात्र अपनी िमिाओां के सवभशे्रष्ठ न्यायािीश हैं और स्नािकोत्तर पाठ्यक्रमों में शालमल होने के ललए कोई प्रनिबांि नहीां
होना चादहए।
नहीां। छात्रों को स्नािकोत्तर पाठ्यक्रमों में नामाांकन के ललए स्नािक पाठ्यक्रमों में प्रासांधगक ववर्यों का अध्ययनकरने की
आवश्यकिा है और छात्रों को ऐसी शिों को पूरा करना होगा।
नहीां, स्नािकोत्तर पाठ्यक्रम प्रदान करने वाले पयाभप्ि सांस्थान नहीां हैं िो अपनी पसांद की स्नािकोत्तर लशिा प्राप्ि करने के
इच्छुक सर्ी स्नािकों को समायोक्िि कर सकें ।
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The argument about whether demonetization was good or bad for the economy refuses to die down even a 
year after the event. While one can endlessly debate, with very little data, on whether the ban on high-value 
currency notes dealt a body blow to terrorism, corruption and counterfeiting, one area in which its impact 
can be quantified with data is tax compliance. In FY18, net collections increased by 17.1%. Which of the 
following can be postulated from the given statement? 
I. Counterfeiting of notes was one of the major concern for Government of India. 
II. Many economists has termed it wrong as it has impact badly on the weaker section of the society. 
III. There has been revamp in the percentage increase of direct tax with respect to indirect tax. 

अथभव्यवस्था के ललए ववमुद्रीकरण अच्छा था या बुरा, इस बारे में िकभ  घटना के एक साल बाद र्ी समाप्ि होने 
से इनकार करिा है। िबकक बहुि कम आांकडों के साथ कोई अांिहीन बहस कर सकिा है कक तया उच्च मूल्य के 
मुद्रा नोटों पर प्रनिबांि आिांकवाद, भ्रष्टाचार और िालसािी के ललए एक बडा झटका है, एक िेत्र क्िसमें इसके 
प्रर्ाव को िटेा के साथ ननिाभररि ककया िा सकिा है, कर अनुपालन है। ववत्त वर्भ 18 में शुद्ि सांग्रह में 17.1% 
की वदृ्धि हुई। ननम्नललखखि में से कौन ददए गए कथन से अलर्गहृीि ककया िा सकिा है?
1. नोटों की िालसािी र्ारि सरकार के ललए प्रमुख धचांिाओां में से एक थी।
2. कई अथभशाक्स्त्रयों ने इसे गलि करार ददया है तयोंकक इसका समाि के कमिोर वगभ पर बुरा असर पडिा है।
3. अप्रत्यि कर के सांबांि में प्रत्यि कर की प्रनिशि वदृ्धि में सुिार ककया गया है।

(a) Only III (b) Both I and III (c) Both II and III (d) Only II (e) None of these
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